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1  2 3  11+ HCP  3 : 6-9  5+  1m(1x) 2x 14+ m, fit, 3m 6-9

1  4 3  11+ HCP  3 : 6-9  4+  1m(1x) 2x 14+ m, fit, 3m 6-9

1  5 3  11+ HCP  3 3hearts, 11-13; 3 = 4H, 7-9 hcp 1 ♥  (1/2x) 2N 10+ 4+ ♥ , 2/3x 10+ 3 ♥ , 3 ♥  6−9 

 3 : 4-6 hcp  4+ / 2NT 4+  game invit 1 ♥ - 1nt; 2  = 16+

1  5 3  11+ HCP  3 3sp, 11-13; 3 = 4sp, 7-9, any single Analog 1 ♥

 3 = 10-12, 6+H; 3 = 4-6  4+  / 2NT 4+GI+ 1 - 1nt; 2  = 16+

1 NT  (14)15-17 HCP 2  = M ask, 2/4  /  = trf. Lebensohl

 2   = ask m, wk or str. : 2NT = wk m or 1444/4144 FG

 3  = Pup. ask : 3  55MM inv. : 3M = spl. and long m

2  X 0 4 20+ HCP  2  Relay  -  2   sign of if 20 2  - 2 - 3  
3x - 6 card and 2 of 3 top card  : 2NT = mm wk or str.

2 X 0 a)6+ card in major 5-9 hcp  2M/3/M: P/C - 2NT= ask. : 3m =FG nat.

b) strong with  suit or  and  4 := ask trf. : 4 := bid your suit : 4M nat.

c) strong Bal, 24-25 or 28-29hcp

2  6 10-13 HCP 2NT 10+ hcp - ask , new suit = GF

2 NT 22 - 23 Bal  3  = Pup. ask : 3/4  /  =trf.

 3 : 5  and 4

3 6+   Preemtive (5)6-11 new suit = F1

3 6+   Preemtive (5)6-11 new suit = F1

3  6+   Preemtive (5)6-11 new suit = F1

3 6+   Preemtive (5)6-11 new suit = F1

3NT X 0  SOLID MINOR  4 P/C : 4   to play 

4 6+   Preemtive (5)6-11

4 6+   Preemtive (5)6-11 SLAM APPROACH AND CONVENTIONS (including all slam-interest bids)

4  6+ Gambling

4 6+ Gambling RKCB 1430, Cue-bid, VoidWood, Gerber

4 NT X  Ace - asking (ACOL)
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DESCRIPTION RESPONSES SUBSEQUENT AUCTION


